Week 6 Thursday
Decimal sequences
Following on from yesterday’s work – see if you can answer these more tricky sequences. 
[bookmark: _GoBack][image: ]
[image: ]
Challenges
[image: ]
image1.png
5a. Use the number line to find the
missing numbers in the sequence.
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5b. Use the number line to find the missing
numbers in the sequence.
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6a. Look at the sequences below.

6b. Look at the sequences below.

2.53 | 2.553 | 2.576 | 2.599 | 2.622 ||| 7.98 | 6.99 6 5.01 | 4.02
0.99 | 0.96 | 0.93 | 0.9 | 0.87 ||/ 0.043| 0.11 | 0.177 | 0.244 | 0.311
0.892 | 0.885 | 0.878 | 0.871 | 0.864 ||| 9.239 | 9.109 | 8.979 | 8.849 | 8.719

Write a rule for each and find the next 3
terms in the sequences.

Write a rule for each and find the next 3
terms in the sequences.
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7a.

The first term is 0.23
The rule is + 0.46

Find the 2"9, 4™ and 7" term of the
sequence.

The first term is 0.452
The rule is - 0.005

Find the 3, 5" and 7" term of the
sequence.

8a.
The 3 term is 7.603.
The & term is 7.693.
The 9" term is 7.783.

Find the rule of this sequence.
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The 5™ term is 3.98.
The 10" term is 3.93.
The 15™ term is 3.88.

Find the rule of this sequence.
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1a. The children have been learning
about decimal sequences.

1b. The children have been learning
about decimal sequences.
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Who is correct? Explain your answer.

Who is correct? Explain your answer.

2a. Compare the two sequences below.

05 | 1 | 15
\V/ |
5 [ 10 ] 15

Calculate the difference between the
same terms in the two sequences.

Find and describe any patterns.

2b. Compare the two sequences below.

yRyly:
[ 24 | 28 [ 32

Calculate the difference between the
same terms in the two sequences.

Find and describe any patterns.





